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- Factoring e Problem S olving

Lesson 7. 1

FACTORING REVIEW & THE
ZERO PRODUCT PROPERTY

veview of skills from
a?\h‘a(o) factor each of

these expressions completely!

1@ x> -27x

2% (x2-9) = [3% Oc+3)(x-3)

2® 631-9\03—%

2(3y*10y —8)
2(34%129+2y8)

2 3y (y-4)+2(y-))
2 (y-14) by +2)

30 2P+ 3m N -8m—1n

M2 (2m+3n) - 4 (2m +3n)
(2m +3n) (m?-4)

Gm+3n) (m +2)(m=2)

When solving equotions in
factoved form, wse +he
zevo propevty:

If ab=0,a=0o b=0

He2x (x-8) =0

2x=0 of (x-5)=0
x=0 eof x=5

,x:OG,‘CS

50 (y+2) (3yr5)=0
(4r)=0 of (33+5)=Q

y=-x of 94="95  [4= 2L Y|

6@ (3n-4)(2n+5)=0

Bn-4)=0 oL (2n+5)=0
n="%30f n="% [n="%«"F

70 The produch of four Hmes_
Marias age and focty-five
less t+han three Himes
Marios age |s Zero, How
old is MO\rta ?
n= Marias age.

Yn (3n-45) =0
Hn=0 of (3In-+H4B)=0
n=0 o N=15

n=2 o IS

ZevD 15 an vvalid
(unreasonable ) answer

Mavia is (S Years old

l




Lesson 7.2

FACTORING EXPRESSIONS
TO SOLVE EQUATIONS

Factovr and use +Hhe zero
propecty o so\ve :

1® X=g=0 305 x-nx =0
(x+3)(%-3)=0 < x (x-18)=0
X= -3 03 —ov-—
x (x-12)=0
Y*+1y=0
Y(y+7)= 0 H® a*+lba +64=0
Oo+8)* =0
=0T =]

5@ B numbey decreased by S)%
is multishied by Five more
+han Fwice a numbev pro-
ducing a peocduct ot zevco.
Find the numbev:

(h-6)(2n+5)=0

N= b of =54

Lesson 7.3

SOLVING EQUATIONS &
INTEGER PROBLEMS

Factor and use the zevro
property Yo solve:

@ 2x* = )% =12

AxF=Nx +12 =0
AX*P_ B -3¢ +)0=0
24 (=) -3(x-4H)=0

(x-4)@x-3)=0

Xx=4 ol 34 |

2@ X3-24x =8x"*

X2-SxZ2-24x =0

% (X2- S x=24)=0
x (x=8)Y(x+3) =0

X=TO oL ¥ or-3

3® Find two consecutive in-
+e9€rs whose (Jrodud-ts q0.

N -{o
n+t [~-9
N{n+1) =490

NZ4+Nn-90 =0
(N+10)(n-9)=0
n=-10 L q

q
10




- 4@ Find Hwo .consecuﬁve neg-
ative odd m’regiers whose
product 1S 3.

V) -9
N+ 2 ~7
h(n+rx)= 63

nN*+2xn ~63 =0
(n+A)(n-7)=0
n=-aof X

Lesson 7.4

SOLVING MORE COMPLEX
PROBLEMS & EQUATIONS

Define a vanable and
Use an equation fo solwe:

1@ Cind two itegers whose
sum s 4 and whose
product is 20.

Y) ) H
q-n ) 1Y
n (Q-ny=2L0

CIY\ —-Y]’l::lo
O=n*-4n +20

(n-3Y(n-4) =0
N Soe M

Both answeys produce same resolt

20 Find fwo mtegers whose
difference is 2 and whose
product is 5S4,

N 91 |-6
n-3 © -9
nhin-»=54 (N-A)(N+6)=0

N*-3n-54=0 n= 9 -6

3@ The sumot the squaves of
two consecuHve positive
odd integers s 74. FHind
the integers.

N 5
N+ 7

N =74 2 Hn-38)0
N*+(n* 4 +H=T1  2n+DI-5)=0
22 +F4Nn-T020 n=-Nor 5

4@ (When one integer is added
10 the squave of +he
next consecutve integer,
the Sum is 29, FHind

+he imregers.
N -7 a3
N+ -6 5

N+ (n+1)> =29
N+ (n>+2n+ 1)=29
N+ 3n =% =0
n+7) (n=4) =0
n= -7 of 4




Solve each equation :
5@ X3-24x = 5x*
X32~5x2 _24x =0

(x-S x-24)=0
*X (%x=-8)Cx+3)=0

x= O B oL ~3

L@ xT1-10x*+9 =0
Treat ¥ as +he variable
(x’-)l— I0(x?) +a =0

(x*-9q) (x*-1) =0
(X HRY(X-3) (x+1) (x-1)=0

xﬁiacﬁil

| Lesson 7-5

SOLVING PROBLEMS WITH
AREA & VELOCITY

e Fine a variable. Use
avy equation to Solve.

|1® The area of a rectangle
'\S 27 m* IF the lemgth
is @m move than the
L)Jld‘H/) de fermine +he
d1men510ns of +he
rec Mng\e

N (n+6)=27 nte

N*+en-27=0 9
(n+a)(n-3)=0 b
n=-4e 3 [2bu9m |

20 A 3 b\{) B em rectang i@ v -
Creases i3 area by 42 em >
when both d\menswns ave

 ineveased by +he same
amount, What avre +he rnew
climensions ?

3 n4+g

U -y =

i I N+3

| I3

M +8)rm2Y ~ (3)(8) = 4
(N2 +)ln+aH) ~ad =42
NT+n-42=0
=Y n-2)=0
n= =k of 3

[ oy lem |

30 A uniform amount 13 Frimmed
off all sides of an 2 by 10
inch phi)'}'o o allow ¥ +o
£% w¥ro a frame . ITf Ythe
acea of the hcﬂ‘o s re-
duced by 32 S how much
S '!*Y‘\mmed £om GC{Cln
s\de of 4+he phoﬁ)

~ -




He

O

B=2zn
B ganl | ¥

\ meh

(‘3)00) - (lo-2n)(§-2n) =32
Z0 - (30 —3bn+4Yn*)= 32
Abn=-4Y4n®t =23

O=tn>*-3n+32 -
H(n*-qGn+8) =0
HN-)Yn-1N=0 °
N=_8 o |

Use +hne Formula for height

ond wihal velodity to
solve eath problem:

h= hexght
V= ini¥ral
Velocihy

t=time

A Flare is launched from
a \ife yaft with an in-
Hal velocity o€ 194 feet
per second, How many
seconds before i+ returns
Yo the sea ?

h =vt-lbt*

O = 44+ -lbt?t N i
ot -4t =0 not an
answer
bt (£-a)=0 because
- of +he
t=F or 9 o
[4 Seconds “retuens.

7 n 1 Problems

FACTORING REVIEW & THE
ZERO PRODUCT PROPERTY
Factor completely
O mP+bm*+Im @ 3> -36
@ 18y+2yr+2y3 B m°n* - 49m
® H4a3-36a @ 20>4ab ~70l"
® 3y*-27x ® 3yt-48
& mt- Pl Q) qg} +8&y> -
@ 5oz +Tat3 @ syl + 1y

Solve. each equad-ion
B (2x+2)(x-7) =0
©@ (x-8) (2x+7) =0
@ (4x—7) (3x+5) =0
® (3x-5) (4x=7) =0
@ Ex+3) (x+7) =0
® (4x-Y3) (3x+Ys)=0

Solve.

@ The peoduct of a positive
humber decreased by 5 and
the same number increased
by 7 15 0. Find the number.

s




@ The product of o negative

number increased by 2 and
the same numbevr decreased

by 34 is O. Find the
num ber.

7 ] 2 Problems

FACTORING EXPRESSIONS
TO SOLVE EQUATIONS

Solve each eqc)a:h'on:
DO x*=306 ®3y*-3 =0
D yr=6M ©3y=39*
@ y=-5y
@ Sy>-44=0 ®y*+loy=-25

Use an equation fo solve:

@ The squave of a nuwmber

decveased by 194 is O. Find

+he pnumbev.

The avea of a square Huble

top s H4m* Find the
length of a side.

@ The squave of a number
added +o b fmes the

Numbey is 0. Find the numbec
® The square ofa numbey is

@D m=24m+1M=0

egual Jo 10 +imes The
numbev decreased by 25.
Fivd the number

B Jake is Jounger than 30

by the same number of
Years That Jackie is
Oldev than 230. The product
of their ages i1s_S&+.
How old is each ?

& A number decveased by 7
is multiplied by the same
numbere increased by 7,
The product is 51, Find
the nuwmber.

7 ] 3 Problems

SOLVING EQUATIONS &
INTEGER PROBLEMS

Solve each equation :
DO p2 =5p+24
@ > =18+
@ 2£2+7t =15
@ 3y2-7y =20
® 6:*+5=17z
© 12m>+3 = ~20m
@ r3-6r*+8r=0

_b_




® 6 @ @6

534 25%-355 =0

(x+g ) (x+1)=-12
Cr-1)(r-1)= 236

(zy +2) (y+2d=y+4
(y+4) (3y-2)=-y-I4

Define a variable. Use an
@guation fo Solve:

® Find two consecuhive

@

even integers whose product
s 120,

Find two consecuhive
even integevs w hose produd'
s 360. ‘

® Find two consecutive

positive integers whose
product 1s 2.

© Find two Consecuohive

negetive integers whose
product (s Bo.

]

I'M FEELING VERY

7 n 4 Problems

SOLVING MORE COMPLEX
PROBLEMS & EQUATIONS

Define a variakle . Use an
equation O Ssolve.

@® Find o integers whase
difference is 2 and product
is %8,

@ Find hwo fn+egers whose.
di€ference 1= 23 awnd
preduct {s —120,

@ The sum of +he squares
of 4wo consecutive odd
positive ntegers is 202,
Find +he integers.

@ The Sum of the squaces.
ot two consecoTive
Pos'ai-ive ’m+e53rs s 13,
Find them,

& The sum of two integees
is V2, The gum of Thew
Squaves (s 47 Find th

integevs., :

© The Sum of +wo ivtegers
is 3. The sum of their
squares is 185, Find the

in tegers.

@ when one ntener 1s addad
to the square of i
Nnext Consecutive jntecer,
+he sum is HI. Find

+he ntegers.

-..7.._




® Wwhen one integer is added
10 +he square of the
next Consecuthive Integer,

the sum i1s 55, Find them.

Solve each equation *
@ BL*+348=Tb

7 n 5 Problems

SOLVING PROBLEMS WITH
AREA & VELOCITY

Define a variable, Use
an equation 1o solve.

- ®© The area of Janes living
room is HO m* The
length of +he vroom is
2 wore than the
width. Find the dimensions.

@ The length ot Mrs. Roland &

garde’n is B uavds move
Than 1+ adHi. The avea

ot the Sarden s 234
avds, “Determineg +he

IMmensions.

@ A rectangle is Dby Tin.
“
If +he length and width
are tncreased by the same
amounT, the area ts in-—
creased by 26 n* What
ave +he dimensions ©

@ A photo 1S 8cw wide and
(2 cm long. When both
dimensions ave jncreased
by +he same amount, the
avea ofF +he photo is
doubled. Whatare the
new dimensions ¢

® mr. Steinborn wants to
double the area of his
garden b9 addng "o
strip of unifoem widih
alona each of the fouwr
sidesT The original
avden 1S 10 by |G feet
aow wide is the strip 7

@ A SHrip ot amform width
is plowed along both
sides and both” ends of
a gavrden that is 12 by 4
tect+ I+ the 3arden 1S
half plowed , how wide is
+he strip ?

Use +he formula 1o solve:
h=vE-164+2

@ A Flare s lavnehed trom
Qa fe yattr with aw
mitial velocity of 192 F+
per Second. thow many sec-
onds will 1+ Fke for the
Flave 4o return o the sea?

- R —




®

A goW ball is hit (nto HR air
with an inital velocity of

o4 T+ per Second, thw many
seconds will T take for The
op\f ball 4o hit Hhe grovad?

A rocket is Fived with an
initial velocity of 1640 feet
er Second. When will i+
be 8l6 feetr high 7

A Flare s lauvnched with an
inHal velocity of 128 feet
per second. Howo Many Sec -
onds will 1+ take for +he .
Llare 1o .return o e seq’

CATS LIKE
TO PLAY IN
EMPTY BOXES

Define a variable. Ase an
equach'on +o Solve,

whewy the squace of +he
second of two Consecuhve
even inteqers 1S odded to fwice
t+he First integer, +he sum is
T6. Find +he integers.

When the square of the second
of fwo consecuhve even mtegers
is added to twice the Firs
l'n‘}ege(:, +he sum s b, Find
the ntegers.

Unit 7

REVIEW
PROBLEMS

Solve +hese equations :
O (Ux-3)(2x+‘AR)=0o
@ (x+2)(3%x-3) =0
® n2=sl
® y2*-100 =0
® 2x+5x =12
® 4n*-Sn=06
D (x+2D(x=3)=9
@ (x3) =16
@ 2n3-5n =-9n*
® bx>-2x= —-x*
@ nt-5n*+4 =0
@ xt-17x*+16=0

Tnteger problewms:

® Find fwo wonsecotive neg-
ative ntegers whose
produc‘f‘ is 20.

() Find two \ntegers whose

difference s 4 and
whose product 184S,

....C,..'




® Find koo mteaers that
Sum o 1 and have a

product of 24.

The sum oFf two (nleaces
is 10. The suwm of t+heir
squares is 8%. Find them.

@ when one in+eger s added
to the square’ of +he
Next con Secvthive even
mieoer, ‘Hf\e Sum is Ho.,
Hind” the ntegers.

©® when the square of the
second of hwo consecutive
positive odd integers is
added 1o twice the firsT,
the sum is 2. Find them,

Veloeity: h=vt-lot*
@ A go\f ball is hit into

+ne air with an nital
velocity of %0 . per
Second - w long until

14 returns to +hé ground 2

Q) A missite is Fived with an
 iHal velocity of 800
er second. wWhen wihll it
e 784 teet high?

Avea problems:

| @) The leng th of a room is
2 feet (grec&er than e
wid+h. What are Yhe di-

mensions 1+ Fhe area s Toft*2

@ A 3 by 5 inch vectangle is

\Neyeased by the same
owmioont n le,ng’r'h and width.
The area of the new rec-
tangle s 48 in® more +han
the original. (what are
the new dimensions ¢

@ Mark wants o dovble +he
size of his @ by 12 foct
garden by adding o
strip of Gunifoem width
all the way arovnd. How
wide must the sirip be 7

@) Jennifers picture is 10cm
long and 6 cm wide. TFf
she cots a strip of
omform widt+h all the
way) ovound That reduces
The  area by 22 am? what
are the new dimensions
of the picture 7

@I wWhen examinng tThe
mside dimensions of a
frame , +he lengthis 2
Inches move than twice
+he widih. The frame
is 2 ‘ehes all the wa
around, and H;_ has an
area. of b in” what are
+he ouvtside dimensions ?

@ A frame is 15 em avound.
The insde length is 2em
less +han twice the inside
width, Tf +he
Frame avea S
48'(:%4," what
avre the dimen~
sions of the
picture +hat
fits nside 7




Unit 7

SKILL CHECK

Solve each equation:

n?= (21

Gx-5) (2x+7)=0

a* +4a =12

bx3 - bx = Sx*

(x+3) Ox=7)= 1|
-Abn"+25=0

SRONCHCENONG

Integer problems :

@ Find two m+e ees whose
difference is 5 omd
whose product is 84,

® The sum of the squares
of two ConsSecouhve
evenn integers is 100,
Find the Tintegers.

@ when +he Sguayre of the
Secw\d ot +two (onsecuhive
ahye odd m-l-egers s’
ac\ eqd 1o Three ﬁmes
+he fiest, +he Sum is 22.
Find the m'\-egers

Velocity: h=vt-let?
© A oho ball is it with

awn ml‘hod velocity of

128 feet per Second. How

lovia untl T retorns o
1’\4@.9 ground 7

Area peoblems:

O A rectingle has a length

F+hat |s & cm'ﬁrea:fer‘
Fhan its wid wWhat
ave +he dimensions i€
the avea (s B5Bcm®

® A storercom s 6 3 feeh
ITF +he 1eng1 and width
are bhoth ncreased by
the same amounT, +he
acea is increased by
70 £4+* Wwhat are ’r-he
hew dimensions of -Hma :
stoveyoom 2

@ A garden whose length s
12 Feet and width |s [Q
feet has a uniform shrip
plowed all +he wo) Ourow\d
If +he amount plomed (s
10 F5* how wide a shrip
was p!ouuecl ?




SNONCERONONS

@

Unit 7

REMEDIATION

Solve each equat-ion:
x2 =49
(Un-5)(3Bn+2) =0
N*—n = 30
En3-Sn = 18n*
(n+Hn-9) =14
W 13x*+36=0

S50 THIS IS WHAT 1T
FEELS LIKE TO PE
POTATC SALAV

Integer pro blems

Find two mtegers
whose diffecence 1s &

and whoese product (s
27.

The sum of the squares

@

of tuo ¢onsecutHive
odd integers (s 7. Find
The intégers,

when the squave of
+he second of two Con-
Secy Hve posifive even
mtegevs 15 added o

foor Himes +he first, the
sum is 88, Find the jnlegers.

Velocityt h=vt-16t*

A model Plane s Eved
with an nihal \/eloci‘l-:_f
of 160 feet per second.
How long until it fehns
+to vhe 3round ?

Area problems :

What are +he dimensions
of- a_room H the length
is 9 feet greater than
+he width“and the area
is 702 7

A rectangle that is 12
by 4 feetr has the length
and width reduced by
+he same awouwnh The
avea of the new rectangle
is 68 Ft2 [ess than the
ariginal. What are the
New dimensions 7

Api'c'fu(e s {0 b:ﬂ(o cm,
T+ 15 trimmed by +he same
amount all +he way areund.
The pew) area of +he picture
is 45 cm? How wide 15 the
Ship Trimmed dway ?




Unit 7 |

' EXTRA PRACTICE

whose dbFerence 153
ond whose productk
is B |

@ The Som of the
Squares ot '1&)0 on-

- secotive even -
integers is 100, Find

the ntepecs.

On=d=ko L Veleddy: h=vb-iot?
@ (Hx-) Ex15)=0 - ® Aflate is Fired info fhe dw
®n*-an+a0=0 B by
@ CX-—Q"‘O ot .rejvms‘do the 31‘?00@- |
® 3y*+5x-2 =0  Avea Problems:

- Y = L @ The length of a room ts 5+
©OH3)(x=2) = | gm}er—}g'nan +he andith, what
@ ,/\Z___ln ___"5'_—;0 oxe "H')e« d(imeﬂsgbns |‘P ‘+he.

@203~ +3n=0 area e B .
3 - _ N T o
L ®A 4 by 7 inch recdangle is
@revizo o) ) s s et
L =0 in lemgih and widi. 1+ The
O n+ *)@)n”l)“o | C‘\Y(\QQ YI%C(@&SQS bﬂ 42, n> what
(@arin= s et dimorgns €
@ N*-17n*H6 =0 Csele:
|  @when the squase of the seod

Teger Pf_*ob lems : oF Jwo (onsecutive negative
@Findtwo nsecuhve ﬁ%ﬁ \mﬁ%}b%fa -

negmhc\_lf{ lmeger s who sum’Is-hegativeithvee, Find

product is 30. | e ntegexs. - o
(DFnd two nteges @H..q ble em picture. as q-i |

untform amount thmmed
ooy o aMl sPes. IF The
new “area is (gem> less than
the ovginal, how wide a_

. Strip was Arimmed awey <




Linear ‘Equations

Lesson 8.1 |

RELATIONS & FUNCTIONS

|® Which quadvant contains
the Coordt'nc&j’e. 2

- I
a) (-6, (_mT Sy AL
6) (2)-2) > DI
) (4,4) c-,—)J,c+,-) I

2@ State the velation as a set

 of ordered pairs and indimte
the domain and vange :
a) Char T set of ovdered pics
X |Y %(—a,z)go,s),(aﬁ)}
-2 |2
?3 3 domain 3“3)0,3%
“
ronoe %z, 3,*-!}
b) Mappng  set of ovdered pairs
x Y 3(3)0, (++,2), (53), cs,q)}

! domain 33, 4’,5%

A range $1,2,34%§

Note: The domam s the setst
all x-coovdinates, The vange is
the set of ol 3«Coord§na:}-es.

30 State whether or not each
equation is a hnear equaﬁ'oﬂt

Yes : If the equation has an
% ov ¥ $eem (or Poth)

No: IF x ov 4 has an ex-
ponent Greater +han |

ITf X or y is v the des
nominodor of a feaction

T+ thewe IS an XY term

A) 2 x+2y=5  [4es

b) x*-2=%  [no]
) F+y=2
d) y-xy=4 [06]

O r=2 yes
4:)-3.5 = 2%~}
9) g2 = 30+1) [
h) xzaxH=0 [o]

Y@ State whether or not cach

relooton is a function:

Note: £4 relafion most pass
“he vertical line +est” 4o
be o function, ,

0 %
>
<& continved

-2~




b) £>

NO

WO

YES

5@ Determine +he valve for
cochh Bunchion.

a) F(x)= 5x*-2ax Ffor £(=3)

£@) = 5@ -23)
5@)- (-6) = [51]

Y
9 S8 e cloe)
g D= (1Y=3= -2
FED)E 3E)-ED)"
oY= = [FI0

C) £(x) = H-3%

QXY= x>+ | foc Floen)

g@r3)= (ar3)* +1
@>+6a+9) ¥
At +6a +10

£ (@2 +cat+10) = H- 3(a*+6a+10)
4-3%—-15a-30
-3ar-1%a - 20

Note: Jou cannot multiply +he
valve of a funchon by &h. T+
s not an equation,

O %(4,3), (3,79, (4, 5)}

B ,2), (0,2), 03

Lesson 8.2

SLOPE & CHART METHOD

|® Detevrmine the slope from
the graphn of a hne: ,

Rise.
<5 = -
lope = A) _g_
__% . ‘ undef
P W @ |
C22r B) = |2
ﬂ; % )3 (2]
BN T X
T . ]| C)_q: _\i
.....; ‘
N VA
R >t 3o

20 Detevming the Slope From
coovrdinates ¢

(-6,2) (-4,10)
(2)-00) -8 o
Co)-(-4) -2

30 Graph the line Con"m‘m'mga
given point awnd slope :

(-2,-5) m= 27 | |

o Piot
- . (‘11—5)
'@1}7- N Coont
*J_a i ve 2 _
| N \rl'g?ﬁ" 7
i_ T I ] i




4 ® Graph using the chart
method :

2%~ "Iltj = |2
-‘—luj = —Ax+I2

Y= x -3

L - -
| |
1 )
I-
t

i HH
Note: Change original
equotion 10 Y= mx b
w hen using the chart method.

1
|
[}

]
T

Lesson 8.3

SLOPE-INTERCEPT FORM
& STANDARD FORM

Write the equation in both
Forms. Determine t+he
Slope and intercepts:

| @ —2x -!—‘4&9 =i

Standard Slope - Tnt

=2x+4Yy =L max+dy=ER
2Ax=-Hy =12 Hy=dx+i2
x~29=-0b 4= ax+3

Ax+by=C
No Frachons
WA is poshve
Facor out GF

In
Standard Form

Lesson 8.4

POINT-SLOPE FORM

write an equation in pdiw-l-—
slope form:

| Poimt -Slope Farm Fov A Line
Incloding (%, , 9))
Y-y, = m(x-x,)

1@ Given (4,'5) m=2
Y- s = 2(x-4)

2.0 Giwen (-3,-1) (0,-3)
Covihnued




Detexmine slope Slope CAR) = % Ve
N-3) 2 y-int (¢&) "2 (oY)
3-(0) 3 x-in+ (“8) = > [0
FY+T= 75 (x+3) H -
' —ov— x: —ﬁ«s |
93 = -2 (x) _ﬁ% =
Sa-SRERE
Change +the equation to the == A ' |
dicated Form. Determine X, ' AEREAS
S‘Ope Cw\d I'Y\')‘errEPrs- use 0 § 7 |E : T i E LI
+he mtercepts to graph.
3@ Slope - intercept torm fovr 5@ Pojnt ~slope form fov line

Yy—6= %5 (x+3)
Note: Use the point -Slope

Y-4=2Ax-b > |Y= Ax—d

Slope (m) = 2 2 form fovr the graqp{:lf;, but
Y-t (b) = -2 |(0/2) change to another form o
) determi The intercests.
x-1n+ (-%) = (1,0) el rmine e in ep |
. . i L I : + - BN T
_ | AT - AT
A y T _ 1
i : IL l : : g
i’l T -| [} ; . :
A ) -
EERBY &R © RERRE Y= 6 = g (x+3)
e RESESE 5y-30= 2(x+3)
53 =30 = 2x +6
H@® Standard form o Ix -5y = ~36
Hy = Y x-2
lay= 2x-b slope (™) = %5 | 25
—ax + 12y =-b Y-t (HR) = 35 | (o,3%)
Ax=129y = b —» [X-6by=23 x-int (¢/a) = -8 [('8,0)




Lesson 8-5 3@ tnven (8,-2) m=4

WRITING EQUATIONS Slope -int Standard
Write an equation for Hhis W= mx o A _4 A=y
Funchion in slope ~interceet y=n+b -8~ | g=-]
Foem (2)=4(s) +b Ax +By =C
® X149 Pirst determine -2 =32+Db 4(g) —1 (R)=C
-’-_I_—é— the slope : 34=b 34=C
I 19 @®-@ -6 _, Y= Hx 34 Tx-v =3¢
=2 115 W=~y 3
Now plug in the slope and 4o Griven (-4,3) (=7,-3)
any point into the slope-
intercept Torm DeYermine (D) _ 6 _ 5
N Slope : -1 3
Y=mx b .
y= -2x + b FOER Slope -int Srandard
IS 00610 S I S5 et
3 - _8 “"'b U:l)('}'b et l 6" ,
N= b —> |[Y=-2xtH (3)=2649+b 2x-Yy=C
3 =-8 +b Z.("L})_(a) =C
W=hb -1 =C
Wyite an egquahon in boeth - - -
slope -intercept and shand- Eiatataall 2x ~9= "
avrd foerm :
20 Given (-3,2) m=72A
Slope =in¥ S+Ond§~rc\
W= mx +b A _-2 A=2
~Y\ =% )\+6S =C
(Db_ 23+ r 30 =C
2= 2 +b 2(3)+362) =C
-4=b -l2=C
Y= "Yax-h 2x +3y=~2




Lesson 8-6

- PARALLEL & PERPENDICULAR

favrallel lines have equal
slopes.

Perpendieular hines have
slopes that ave negative

vrecipro cols.

Determine £ +he lines are

parallel; perpendicviar,
or neitrhevr :

1@ Hx-3y=6 A =4
Y= x+] m =3

[Parallel Tines]

20 y-2=%h x+3) m= ‘A
6x+3y=jo Y= -2

Peyr pendicu lar ines

horizontal
vertical

30 Y= 2/3
x= 4

Per pendiculav Iineg

H® Y= 2AX+3 m=23
3x-24=7 Ff=34
Ne ivher

Write an equation:

50 Parplel 30 3x+4=5 +hrough
(~1,6) i Standard foe
3xt+4=C -
3(-N+ (6)=C
3=C

Ix+Yy =3 |

6® Pecpendicular to

=-3x+6
Through (6,-2) in Slope -

mtrercept form

Y=)s x +b b=—4

2)=Ys (6)tb

-2=24+b 4= rax-4
7@ Parailel o y= 2 x+ 4

theough (3,4) in standard

form

2x-3y=C
2 A= J
8=5 022 aoysenec
_.6 :C
Ax -53: - '

8@ Perpenclicvlar 1o g+H= 3 (x-1)
through (‘)7") i pommt —
Slope form

[_5+| = »‘9/5 (x+2)

9@ Perpendicular to %= -7
through (=5,4)

g=1




Lesson 8 ] 7

SEGMENT MIDPOINT

To find the midpont of
a segment, toke +he
overane of the coordmn-
aotes of +he end points,

1@ Find +he midpoint of a

segment with end points

(1,9) and (-6, 13)

D+ E6)y= —2+2 = |
(@ +(13)= 22 +2 = |}

(‘I)”)

20 Find the end powmt (B) of
AB with midpoint (P),
A(2,~6) P(8,-0)

(2) +6 (8) +6 (i4)
) =4 (=10} =4 (-14)

(4,-14)

8 n 1 Problems

RELATIONS & FUNCTIONS

which auad cant ontains
eaclhh coordinate <

O =3,6) & (0,0)
@ (-7,-2) ® C54)
@ (6,4) @D (-3,-8)
@ (7,-2) @ (2,2)

State the relation as a
set of ovdered pairs :

9 x|y ©Ox 9
2 43-bz
5|2

>&
3| G I AN

@ Twndicate the domain o
#9 above.

@ Indicate the vange tov
)0 above .,

Stade whether or not
each 15 a linear equabion

® y=3x+ (©9x*-3x =y
) 2m +3n =) @ % =2
@ 6x-7=3y ® x=y*

_,[q;_




State whether oe not cach
relation is a funchon :

@ x Y @ x Y

2 +P5 *3; >
37 e N
L ol Ps

0 ~£q

D) % GY, (5, 2,3, (5 5)}
®5W, (5,2, (6,3), (3 )
@ $ (4, (33), (0,5 (5,0, (5,35

® @
P A
pe N
) o ® .
NN

Deteymine the valve for
each function:

@ FO)=3x-5 forcf(3)
® £ <) =2x-l for €(-1)

ED Fx)=x*=x o FED
@5 FO)= x=2x  for £(2n)
@ FO3= 3% For £k

-y :
@ ;ng; X o o]

TOOZ 2 o £ lo6))

grR = K =X

8 n 2 Problems

SLOPE & CHART METHOD

Determine +he slope
from a graph :

i Ll 11 ! I I
i i H

3 ! I M S N
Y RSt iESsnE
T -
]
1 1]
; I
A yEEEssasazsy - o
= L '
— x——— -
" \
| ! :E
e — T
[l T T
T e gy ErH
i ]
: ‘:;H.
R == T
- I
1 i i oL
e
1
! [
T :[_;;'_
H . ! EERRE




@@QE

®OG®

@ ®

900CO®

Determine. Slope from the.
oordinates:

(-3,-5)(-§,5) @ 4,2(9,2)
0,-)(~7,3) @ -6,1)(0,9)

(2D 2-8) @ 3,4)(-3,-3)

(6,8Y9,72) & (4,-13(6,-1)

Qvaph the line ntaining

(~6,-6) m=2. @@ €%,2) m=und.

5,0) m=% @ Ci-8) m="25

(0,0) m=-3 @ (—l—b(,) m=0
(-6,4) m=0

Oraph u\_giy)é e chart
method

4 =20 x—|
W =x+5
JI=X

Y ==Ax 4]
')("'5:q
X=Y ==2

Review

Which quadvant mcludes
the point (-&,-3) 7

Tndicate if the following
relation (& o funehon. List

@ (‘-%}7_) m= und,

the domoain and vawge .

X |2Alol212 |5

@ Indicede ¥ the ﬁ)liow'wg

ove livear €q veehons -

a) 3x=9 7 ek
L
b)) x*+y=l
P
C) \d - _3_ z -

@) Determineg the value oF the

following funchon

;Ex))f ‘iﬁ__?’ for €19 (i)
%) =

8 B 3 Problems

SLOPE-INTERCEPT FORM
& STANDARD FORM

write each equathon m bath

slope -ivterceet Ond Stawndard
forms. Determine the slope

ondl intercepts.

O y=3x—1 ® 3x-y=2
@ y=2x+rs  ©®© ¥ +y=H
® 6xr-2y=4 @ 3x=9-6y
@ Sx-H4y52 @) -x=1 —2Y

_;\—.




8 ] 4 Problems

POINT-SLOPE FORM

Giiven the slope and o
point or two points, write

- av equation jn point -Slope
orm:

O =2Ym=-4 B &) m=/a
@ GLI m=2 G (3,-8)(6)
® (-8 m=%s © (4,3)(2,-)
| Cnange Hhe cquation to Hr

form  indicated. De‘fe'r:m'me
the sicpge and hoth intee-

epts. Draw thegraph.

2x = 6-Y

® e

y-2=3 (x4+14)
Stavdavd form:

Graph the line by using
+he pomt - Slope %(ﬁm.
Tdentify the slope. Then
Qhange forms o odetermive
the Intercepts:

W Yy=-3= 2(x-4)
@ y+6= -3 (x+2)

Slope - iﬂ"'ﬁf‘c‘ep'f :
form

Review

Which quadrant contains
cach coovrdinate :

® (7,-6) @ =3,8)

Trncicate f +he ﬁi\low]ng :
relabion 18 afunchion. List
the domain and range:

® x v

State whether or not
these ave linear equatons:

® y=0 @ 2x-3xy =4
Determine the slope !
@ (71,2)(9,2) @ (,2)(6,-8)

Determine tHhe 'FUY\C‘HOY\
Va\uc_z :

@) £ ) = -2x

9(x) = ax-x
For ¥ [9 (m—x}j

2

—22~




8 ] 5 Problems

WRITING EQUATIONS

Write an equation wn Slope”

rercept form for each

Function :
X -2t jo |
O =S -x -t | >
prd -2 |-l ]0 {2
Y =it |51a |3
pd g4 l2 {02 i4
9 H3{-s!13ni9
pYe | 3151719
4 117129 141 |53
X |Y @ x|9
} 4 1 -3
2 |13 2 | -6
3 i 3 | -9
X ® x|y
-5 |28 - 26
-3 '8 -2 | 22
-1 B O '8

Werte an equarion jn both

slope ~intercept and standave
Fovm Tor a line +hat inchudes:

@ (-6,3) m=T4a B @,1(8,2)

® @GD m=y @ NMH2)

@M (5,7 m=0 @ 5,)(-7,9)

@ (2,3) m=und,  ® (2)(3,3)
Review

Write an equation in pont -
Slope form ¢ a Wne including »

@ (-4,3)(-7,3)

('27 4) ("5:: 5)

| 8 :6 Problems

PARALLEL & PERPENDICULAR

Determine F the Bilowin

pairs of lives are paralield,
perpencicular, or neither:

0! 2x+3y=6
5 ="Fx+]

@ X-lfj = ‘-}
3: ~2%+ 3

@ 3x-y=4
gy =gx-2

@ Lix-ia =i
3—).-‘-"—3_0(-\-1)

®) 3ty = ~7

Y-i=F (x+3)

© x=2




X-4u=3 @) y=Fx+3
@ Lj:*/qé-\-?_ Yy 3 X
2x~4y=3  ([©) y-2=206H)

X+2y =3 2x=4=0

write +he equation o o line*

@ Parallel v bx+y =4
through (-2,3) v shandard
form

@ Parallel fo 5x-24=7 through
(0,~4) v Shawndard form

@ Parallel to
through (0, - )
mtercept >

@ Paratle) o
Y= Fx |
FThrough
the ovigin
in Slope - intercept foem

'.:‘-375)( + 4
in Slope ~

© ferpenclicvlar o 5x-34=7
through (8,-2) i Standard
form

® Perpendicular o 2x+&y=Y
through (©,4) 1v» Stawndavd
o

@ Pecpendicular o w=3x-2
through (6,-)) in Slope -
inteccept '

Pecrpendicular 10 4 =-3x+7
through 3, 1) n” Slope =
nteccept Torm

@ Parallel to Y-2= F(x-3)

Fhrovgh (5,-2) i point—
slope form

@ Paralle! to :?+3=‘-1(>*+"i)
throvgh G4l in point-
sSlope Form

@) Pecpendicular o y-4=E(x+1)
Hhrough (H,-2) n point —
slope form

@) Perpendicylar J0 Y13 =-Y(x-1)
Fheough (3,3) in point -
Slope fovm

@3 Pacaliel o 3x-6y=2 Hhrough
(1,2) in Slope -intercept Form

@ Perpenchcolar 3o x4+ 25
+hrough ~1,73) in slope -
nrercept Torm

@ Pe rpencheular To Y= BSx~3
Fhroogh (0,-D) in Shndard
Form

Parallel 4o u=x Through
(7,-2) in S‘!‘uédard 'Fufmg

@ ParaMel f0 y=4
+h(‘0uﬁ>h ! 3
ef""-:- L

(2, -

@ Through
2,7
pecrpendicular fo X = -2

@ Pevpenchevlar fo 4 =5
Favoogh (0,-2) |

Go) Parailel to
x=-|
through (-3,-4)

-2 -




8 n 7 Problems

SEGMENT MIDPOINT

Find the midpoynt of a
line Segment with end povts:

@ (3,55(0,7) O (DM

@ (5,9)C7,3) @ (4-1)(-8,1)

Find the end pownt (8) of
AB with midpoant (@) :

® A(>3) PG @ A5 PG,

© AG9) PE) B AES)PEE)

Review

Write awn
equation .

@ Parallel o (Q
dx-y=4
+hrough

CI""L") l‘\ﬂ
slope - ntercept Form

Perpend\'Cu lavr to u=2x +1
through (4, 3) in “stavdard

v

@ Pecpendicular o 2x-y =5
Fhrough (-1,2) in point —
Slope ‘Fo(w_\

@ Paraliel 1o y=2 +hrough
the point (3,-1)

®@ Wyite an equation in slope”
mtercept form:

A
A O

Sy -7 | 8
000 =lo | 14
~ -13 | 20
-lo | 2b

© weite an equation v
standard form for a
line through C2,3) G5, 12)

) write an equation in
point ~slope fTorm for a

line through ),5) with
o slope of —'a

Using the intercept
method , graph 2x-y=6

@ Using the slope method,

graph a line theough
Co,-14) with a Slope =-4

Unit 8

REVIEW
PROBLEMS

Which quadvant Contains:

@ C-%,"l) | @(7}"5)
State +he @ X )
ordeved -23-H-3
Pa'\cxs ) domc;é n, 3 >\-O\

—_5—-




State whether or not He

equation is o inear equation:

® y=2

State whether or not +he
relaton i a function:

® $©3),@5),(+5)(1,0%
D § 13,00, (2,3), 243

17

@D 2x—92=3

Determine
+re value .

£G6) = 2@-3x  for £:2)

£(x) = 3x-x* |
500= 2%-3 For £ 1ot

© 0

Determing slope :

| 1! L I

[ | I

a4\ |

{
[}
I
| I H 1 |
]

]
]
L { | | I j 11
t i 1 T =1 N T ; I

® Ddetermine the slope of a
line containing &6,3) (6,5)

@ Determineg +he slope of a line
ConYaming (-2,-4) (io,-4)

Graph « line containing -
@ (-4, 2) C6,~4)
m =0

m==-3

Change the eguation to +he
indicated foem, Give e
sSlope and intercepts,

Sloge - intercept form:
@ 3x= 1246y Hx-2y =6
Srawndard form:

@ ‘:j = %—‘.X-l @ 63—8 = \ax+i0

Graph ach equation Rrom
the information n the

given Torm:
@ 5)(._13 2 @) y=3x
@ x+1y=8 @ g2=F 0y
@ y=-5x+0 4 +5= 2 (%-3)

Wyrite awn equation v slope-
ntercept form R each
funchion:

@ X Y @ x Y
-2 | -5 -3 | -
e -2 e
-lo | 4 \ H




Write an equation in
Slope - ntercept form -

G 6,3 € CE9)
m=-d (o,4)

Wete an equahan m
Stawndave Torm:

® (9,-3) &9 (6,-10)
m=H (81"6)

Weite an equation m

point —slope v
® C3,-5) @ (4,-5)

m="/3 (%,-)3)

Indicate € the lines
ave parallel, perpendic-
U\\OL'(‘, o ne thee:

6D 3%x-54=7
Y-2 = 2 OxH)

@@ Y=-Yx+
X-4Hy =3

wWite an equathon tor
a line Thatis:

Pavallel to 3;{-—?.3 =y
"H’)rough (.,..(o) 2_) I’n
standard form

) Per pendicolar to YTEXH
‘H’\rough (@,—4) v
SioQQ-iV\TercepT 'G)fm

@D Pecpendicular 4o 2x -2 y=7
throvgh (4,-3) in siSee-
ntercepet form

@® Parallel o y="2x+5
through (6,-2) in Standavd
Fovm

@ Paralle) to g=-4 +hrough
the point 1,2)

@ Perpendicular "f'D w =4
Aihd the mdpoint o
end pont as (ndicated :

@D Frnd P (midpoint) of AB
AC-6,11) B (<12, 1)

Find B (end point) of AR
A(-27) P(5,4)
Graph the follow)
Hneo()r equations ¢ "3

@ y=-5x @o=zx

[ REALLY PON'T
LIKE MYSELF WHEN
I'M THIS FAT

o




Unit 8

SKILL CHECK

Q) Which guadrant contains
the point (-8,-9) 7

@ Is 2x94 Tl a Y neay
equation <

Q) Ts +he ‘Po\low'mg relation
a Funetion ?

%(-4,—2)) ¢3,-2), (0,1)(s, ’ﬁ

@ Determineg the valwe:
FCX) = 2x 2> %2 For €(2).

® Determine the slope :

© Determine +he Slope of a

line ontaining 4,2) (-4,9).

@ weite the equation 2x-4y =8
i Slope ntercept form
and mdicate the Slope and
both wntercepts.

® Wwrite Hy=EX-2 in Shand-
avrd form” and inclicote the

slope and both (ntercepls.

@ wWrite an equation v Slope
tercept Toxm for +he

+ollowing velation ¢

X [ =71 =10 -3 ]| ~l] -9
Y1-4 2| B} 4| 20

Gvaph each equation:
gﬁ‘%x o @ 9)+(9="‘_=l'; (c-4)
5x-2y=-0 @ x=3¢

Wyite an equation for
a line ¢

©@ Tncluding (4,-3) (5,-7)
standard o

® Tncauding (2,73) (4,73) 1w
any Torm

Tncluding (2,-5) w'ith
slope =~¥5 in point-slope
form

@ Recpendicular to 5-:-% x-9
through (~b,2) W shavdard

Fovrw

Find the mdpoint of A :
A(4,-7) R(-=25)

Determine +he value of
Hns Funeton:

@ = [:9 CBn-H.)J

F(x) = Ax -3 x>
gx) = b6-%




Unit 8 ;

REMEDIATION

Which quadrant contains
MQ PO\Vﬂ- CH) 6) ?

@ TIs 3-Y=3 a hnear

equation ¢

Ts +he following velation

a Fonction 7

S (52, (4,-1), (5,03(3,2)8

Determine the valve of:
FO)= 3x*-x> foc F(3).

Determine the glope -

1

1
oY

Determine +he slope of
o e Containing (5-2)(-7,-5).

weite X+39y=-9 i Slope -
intercept form and Indicate

+he Slope and both witercepts,

Wyite 6 '-'-‘-—._;X +9 n
<tandard " Torm and icate

the slope awnd hoth intercepts.

@ Write an equation X 19

I Slope ~ntercept 4 [ 7
Form %amr the re- q | -3
lohon at the right-: Mo =13

Qraph each equation :
® y=Tx-6 @ y+4=-20x-)
@ Sx~2y =l @ "HH'-‘-E)X

Wete an equation fora
hne !

@ Includfng ("t"‘\) (6,-’5) in
standard form

@Iﬂdudthg 7, (7,0) in
any Torm '

Tncluding, (2,-6) with a

!-' * .

slope = /2 in point=-slope
Fovrm

@ Perpendicular 7O Y=-3x +6
Fhvrovgh (1512) '
Shandard focm
Find the mdpoint of AB:

AC,7) B (-5,20)

Devermive the valoe:

@ 'F(K)’-sx-lpc"
g(x) = 1x+2

&e F [9 (:.o\—%)J




Unit 8

EXTRA PRACTICE
O Which quadvant ® Deﬁrm'me the Slbpe:
Contoins @ . . e

1l ] A
)

A. (-5,-2) ¢.(-,5) HErY maaes
B. (4,-3) D.(3,2) | . =

] | —4—] g1

@ Is +he “Follow'mg a
linear equation?

A,
RB:
C
D

® Determine +ne Slope of
@ Is +he Following a hine containing :
relation a function ?
A. (-2,3) (-4,7)

A% (2,2),63,2), 05,5) ¢ B. (=5,Q) (<1,9)
B. § CL=0, (477, (377 3 C. (-2,8) 7,10)
C. § (4,-3),(5,3), (6,3) 3 D. (4,-1) (4,-5)

D. é (‘1;‘))(412)1(-242)?

@ write n slope -tercept

@ Determine +ne Funchon form and ndicate the
valye : slope and both intercepts:
A FG)=x=-%" v £CD A 4x = 3-Y
B. F(X)= 2X=3x+l for F&2) B, X+29U=6

C. FOO= X*-4%  for £(-4 C. 6% -3y =i
D. F(0 = x-3)*% Fo:' FCI)) D. ;Lx'—eg =-1%




Write in standard form @) Graph cach equation :
and indicate the slope

and both intercepts ! A 2x -y = 613_
B. 24+ 2y4= "~
-2
iy TEENTO C. x-4y=238
B y+3=-30e D. 2x~5y =10
C. 3y-6bx=9
D. 6y=3x-

@ Groph eadh equation

A y-3 = 2 (X +5)
@ Write an equotion in ‘ 1= 5(x—3)
B. y+4=5
Slope ~intercept Forwm o N
the ‘Foliow}ng reloton : C. y-5=73 (x+2)
D

2 ——
A. |X|-a]=5] -8| - YTe= 3 "
Didl b6 2l |10
Gvaph each equation:
B. IX1 219 | ] 23 ®@a 9
I -21-5 {-71-9 A. Yy =3x
C. IX|!s|-l |-7 (=13 B. y=-H
ylalil |3 115 C x=-2
bt 3:_)(
D IxX{-4}-¢ (=12 ] -lb ‘
Yilg |s | 2 1 ~)

@ wrike an equation for:

A A line pmludm (-3,5)
ond 2,4) in smndam form

B. A hne mndoding 5,7 and
(3, 2) \n standard e

c. A line incuding (2, ) and
(2,-2) in stundard form

A line
D in l‘_‘i:.?‘c\nmof’:gmg (010) and CS \)




® write an equation for:

A A hne incluo\m;ng (‘5,2)
and (-5,8) in any form

B. A hve including (-=3,7)
C\Y\d CZ;?) l‘h any ‘Form

C. A hne mcluding -2,3)
ond (4,3) i any form

D. A hine containing (0,=)
and (4,-1) in any form

WYY an Cquation for:

A & hne including (4,-5)
m=% in pant-slope form

B. & line incuding (-3,-6)
m=~5 m pomt-slope Form

C. & hve including (-4, 7)
m= Y4 'n point -slope form

D. A line mcluding -3, 2)
m=3 i pont-slope Torm

@ Wwerte an equation for
a hne n standard form:

A. Perpenc\\'cu\ar 1o yY=2x~5

through (—6,41)

B. Pavallel 4o 3:-—'15”X+).
+through (o, -1)

C.Pecpendicvlar to y=5x~10
+hrough 15,38)

D. Parallel Yo u=3x-4

Thvough (2,4

® For line AB, Find-

A, midpont iF AG3S) aE7,n)
B. €nd powt IF A (4,72) MGG, 10)
C. md port F A(3,D R (o, 1)
D. End poynt 1 M(+,2) 8C3,7)

@ Derermine the value of

+he Fonction:

A {?[g(na—zﬂ tor
Fx)= X —-2ax?
-ng)-'-‘- 3Ix —&

B, F[oan-2)]
CE(x)=2X-5
g{x) = X+ '

¢. £ 9 c2n+1)]
F(x)= X*=3X
g (x)=2x+H4

D {3[6 (’Zn—B)j

£0X) = K2
§(x) = x—3
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Linear Systems

9 1 Same line
Lesson n | Dependent, Consistent| {INF
CLASSIFYING SYSTEMS

3@ 2x+5y =10 slope = —Z yant (0,2)
Y= x+3 clopez Vs yint(0,3)

Classifying Sustems:

' ; [ ‘
Independent Different lines Paratiel lines

Dependent Same hne | Twnde pendent, Inconsistent| |0

Consistent Shared point(s)
Inconsistent Pavalle! hnes

Tndependent
Consistent 9 2
Lesson /=

| Solutiown
r\_) Tndependent SUBSTITUTION METHOD
\ Tnconsistent o
No Seolutions Wse subshiution fo solve.
Then Classify and state e
. Dependent number of Soluhons :
Consistent
INF Solyhions (@ y= e+ ‘
| Hx+2u=26
Qlassify the system and et 2 (2x+)=26
state the number of Solutions: Hy +4x 4226 '
1® Hx-4=8 Skpe= Exe e
%-’-—'2)("'3 Siope:-l X—.S lj=2C2>)+l=7
Diffecent lines, ol pavaile) I ndependent, onsistent] | |
TInde penden, Gonsistent] | | | I‘l ' r Solution
) ; I i fi:’l. 1 (5;7)
‘@ EF_J&ZX*""‘ slope =3 Y-t (04) SN
X+35=]1 Slope ="A U-I'M‘ (o4) s




20 3x+y =

— y= -3x+6
25—)2=-6x

2(-?x+6)-12a=-bx
“Gx+i2-12 == 6bXx
2. =12

i
1. I
T

‘ Dependent
ERRsaan: Consistent

INF

Single line

20 6x+33 =30
y=-ax+3

(x+3Ex+3) =30
bx—-bx +9= 30
9=30

Lesson 9.3

ELIMINATION METHOD
Use elimination 0 sohve:

4 it

pas 5 |Independent
| Tnconsistent

[e)
= Pavallel lines

.....

GARFIELD, GET OUT OF
BED THIS INSGTANT!

18 x-2y=5  pad fo
2x+29y =7 eliminate “y”
X=2y4 =5 x-29y=5
2% +2~:, =7 D2y = =
3% =1 —2y=|

x =4 Y= Yo |(H,7)
2@ g+ 4Hb =25 mul by 3
20.- 3b= 6 mult. by 4
da+Nb=-75 2(3)-3b=6
go-12b< 24  —b-3b=06
7 = =5} =3b=)2

a=-3% b= [

20 ';‘_x—tﬂ:::-lO

moltt by 2
Fx+2yslo  ouik by -4
X=29=-40  x-306)=-4o
X-3y3I M0 x-32=-v0
_..5-3 = -%0 x:._g
Yy = o ("8}‘6)

Set up a sysyem of equahons
ongd Solve t?sn‘ng subshfuhon:

H® A father ;;«,h three 2(/’463
yhe one of his Son. Six
geaﬁgago, t+he Father was

-3)-
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Lesson 9.5

SYSTEMS OF INEQUALITIES

Solve each system by
Gaphing !

1® Y2 X+2
Yy < -2

== -w’-._
- M

.
™
‘Rab‘f -

= E

20 2x-Y >4 —> y<2x-4

Y 7 =X
U L 3313
i T AW M|
1 ] 1
1 Y | 1
' i 1
18y v
BT 1
F 4 | 0 11
b | 1
r ]
L4 1 ¥
| ] - R L L
1 LT i1
; . AR DIMIMERTT ll
- TIE1 n
4 ik Ban
! ] 1 |
‘‘‘‘‘ i f’—rP‘ [ EI Ty
[ T '_lufl' AEY T
'] T A T s M3 51 TR ] it
} 1) T ¥ Tt i 1] L
1 T : r T AREA | i1 |
f 17 1 [ Ny i
L.} i J L ] r ] i 1
i ) ¢ 1 [ T4+ ]
T v [ i R

30 Y >-X+2
y<-x =3

Lesson 9.6

ABSOLUTE VALUE
INEQUALITIES

Solve each sysStem by
graphing *

1@ Ix]) -3 <2

IXl<S&
x<S amd %X >-5

£
[
[}
Rl
I
~ -
- 1
s T
I
L 1
=y
o T
o) T
o 3T v
T - =
T L)t
] 1y 17 T |
oy 1§ g e
(] LT
[ 1
Mo () T
ﬁ_ 1 17 |
pl, [l 11
] — -+

|||||||

T ! IF KWW i
[l | ¥ )
1 I ALY i
rA
L FA)
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| FAN AN 1
! P S L%
T pr ] % A X\ W
1 LYY
il FAY :
Ml I\ 11 T
L} L &\ T T T
F N gt '
il\\\ PR ;'.l rL
1 ' 1
ANy | T
CLERENRAY RESE ;
EN W, Y. TTTT LE
v v TR AR P I T
— ¥ ]
Summary

<, & indicates ntersechon (and)
>, = indicates union (o)
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Write a s tem O‘P W —

cqualities +of each graph’ Lesson 9.7
- DIGIT PROBLEMS
% Set vp a system +o

5 solve each digit problem:

He

SRR it 1® The sum of the digits of
S TanuE T o two Oigit numberis 13
S P The units Aigit s | move

- <=1 Hran fwice the tens
<=5 X7 ANgit. Frind The numbev:

A
AR X
* L1 %Y

Sl 4 ' R Two digﬁ' number (tw)
‘ ' t+w =13
i S =2t +1 44
; ':;'"; ‘,'IJ; a | t+ (26+1)=13
FHE N 3t 41313 =k

a2t =2)2 W =20+

3=




20 The units digit of a two Lesson 9-8
digit Numbey is 3 Himes

t+he tens digit. The humber PROBLEM SOLVING

is 4 move than 3 Himes

t+he units digit. Fiind The Use. a system of equahons

Number, 1o selve

U= 4t | |® A hoot Fravels 24 miles

10t +uy = 3w +4 upstream in 3 hours. The
retuen trip takes 2 hours,

ot ~2u =4 w= 4t Find the speed of t+he hoat

0t -2(4¢€) =4 w=40Q) ond the vate of +

10t -8t =4 A= cuvrrent,

2t = 4

t=2 2% I & * _'E = _D_
upsiream  (-¢)+ 3 = 24

3@ The sum of the digits of Doomshream (r+¢): 2 = 24

a fwo digit numbev is 10,

TF +he digits are reversed, 3r -3¢ =24 dwide by 3

+he new numbevr is | less 2r+2¢ 224 divide by 2
thawn twice +he original |
number: Find the origival r-C=9% (o-C =8 —¥ c=2
num ber. r+Cc= |2
2y =20 boat : 10 mph

£+u =10 —> t=B0-w =10 Cuvvent: Zmph
0w+t = 2 (o +w)-| a
Pusrt =20 +2u-| :
3w - 19t = -| 28 A plane Lles 150 miles in
U -19(10-0) = 20 miwores with a tavlwind
g bewnind i¥. Against the wind,

“-1904194 = ~| the plane Cain PIB 25 miles
27U =189 : forctrer in a hatf hour Fnd
W=7 he Speecl of The plant and

= the vate of The wind,

| . R sI:D

t=]0-WU With wind (rrn) - Y2 = 150
+£=10-(7) Aoainst wivd Cr-w) * Y2 = 175
t=3
[37] Contnued

-2 5




20

v+ 3w =150
ZY-3W=115

mult by 3
ot by 2

r+w =49450 Qeo)+w =450
r-w = 350 W =50

Zy = 800 Plave . 500 meh
V=400 wind ;: 50 mpiy

A 1D Pounc,\ assovrtment O‘F
andu tontains mints That
se il q:owr $).50 per pound
ond cavramels that setl for
2L 20 'S POUV\C‘- T +he
Mmixtuve Se lis fie 3194

per pound, how many pounds

of each candy are = the
assovt ment ?

M= pounds of mints

¢= pounds of caramels
MG = Te) —_— m=10-C
.Gom + .30 = 10(I.4Y)

1.5m A+ )ac= by

ISm 4+ e = 1UY-
5 10-¢)+ 13 = 44
IS0 =185¢C +13c 2 1YY

-2C =~k
s

mM+C = IO
M+(3) =10
m =77

3 1bs. caramels, 71bs, mints

H® Pavla invests $16,000, part

ot 2% and part at 0%,
Afteec one year, the 12%

Mvestment earned tfice
os much mterest as the 0%
vestment, How much money
s mvested a¥ each vrate ?

X = $ mvested o+ 12°%
y=£% tmvestred at 10 %

Xy = l,000 —> X =16000-Y
A2x = 20 10y)

k=g

lax =204

12 (16,000~Y) = 20y
192,000 - 12y =20y
142,000 = 32y

Y= 6; 500

X+ = 6,000 $'°rgi,‘2f+
X+ (b000) = 16,000 | $6,000 at
X = 10,000 0%
Unit Review

ABSOLUTE VALUE GRAPHING

The -Fo\\ow'mg Systems show
ov intevrsection between the
absotute yalue 'mc-:quo.,!'rf‘g and
o secoy\c\ nequalily,

Note: The absoluie valve m-
equa-\dy May he o unioh
or awn intersection.

Continuved

-36-




20 |2y +i | >7

Gmpm the Sgﬁems

LI . | LIPS i AU A e e

Y <3x+3

’23+P!>7
2yl >7 oL 23+I< 7

G273 £ 9<-t) amd y<3x+3

b
b
P gl
e
e
)

H -
»

M
i

bt

A

1

h
u

‘. A
Iw\é

9 N 1 Problems

CLASSIFYING SYSTEMS

C\QSS'\% the Sy srem and

state +he number of soluhions:

D 3x+y =6 ® x+2y= b
X-y =2 Y ="Yax+3

@ x+2y=85 ® %x+Yy=6
2x+43=| X-Y= 2

@ 2x-3y="5 @ Ax-ty =2
K=2 Y=-X+6

Hx +by =% 3Ax+by=

Graph each system cmd
classify

@ y=x+3 @ x=9

X+35=5 Y=6
@"fx-2.3=l0 @ Y="3K
Yy=z2x-5 x=%Y

3 % -2y = I

5 ‘:‘3/2_ C}("—"'I')
9
3y

=2 (x=-x)
x=!3

@
©

_37._

@ ax+3y=H . y="Yax +4 |

2y




9 N 2 Problems

SUBSTITUTION METHOD

WSe sobshtution Jo Selve,
chssify,; and state the
Numbere of sSotuotions:

D =3X @3x+2.3::|q._
X+ 2y=-2] X+Fy =4
@ y=ax ® x+2y=3
X+29y=8 2R +HYy= 6
® 3x+y=<X D y-4=302)
Ax =Y = bx—2y =12
@D 2x+y =7 @x#—‘/:_3=n+
Ox-3y= -2, Y =-2x +8

Geaph cach system . Use
substitulion to” check +he
Solohon and tdentfy the

pomt of ntevsection
@ 7\)(4-53:)‘5 ld=_l)<+6
Yy=x-4 X+Y =2

9 N 3 Problems

ELIMINATION METHOD

Use eliminaton $o salve:

D x+9y=7 B sx+3y=1Io
X~9y =9 ex-Ay =2
@ 1x-3y=-4 (® Ax~+38y =7
X= 7-3y [§x = 14= 16y
@3)("'5\&:6 @-’;x "M =0
2x=4=] 1‘5-)(-;-%3 =)
@ x-3y =0 ® £ (x+y) =)
2%x-3y =77 X -4 =4

Write a system of equations
awnd solve usirg sobgHtuton:

@ The differerce between Hwo
numbers is four. Twice The
larger number is tThree himes
the Sum of The smaller
number oanet huo, Find them.

© The larger of two numbers
it hwice the Smallev one.
IF the greater s mereased
by eighteen, +he resuly is
four Tess than four Fmes
+he smallev- one. Find the
Two pumbers.

M Layla is three Fimes as old
as Diana. T ten years,

layla will be hwice a3 ol as .,
Didna. How old is Layla pow:

- 3&-




@ A red-qngle Nas a per;Me,"'G'f'

®0 6600

of Hoem, The length of +he
rectangle is | cm less Tthan
tuice e width ., Fiwd the
length and width,

9 N 4 Problems

GRAPHING INEQUALITIES
Graph cach inequality :

5 >3 @ 2% 2 33

Y £-2 @ *x>y

x < -6 @ Y >_-x -5
x >4 ® 44 2x—6
2;&—‘_—3 4) @ Ly "'"ﬂ >
X+ 4y <8 ® x+34¢9
Review

Classify the ¢ e Yy
Systewm awncl

indicate ¥he

Nuw be ¢ of

sclohowns

3 ___# *x-2

K- ‘43 =12

Y-3=26+) @ x+24=3
Zx-4=6 y =" 3%+

2% ~3y= 15

@ x+29 <4

Solve Mang climination :

@ 2x +6y= 12

A=y =1 3:“*[3)&4-2.

9 u 5 Problems

SYSTEMS OF INEQUALITIES
Solve by gmphing:

O x >3 @ y-x>3
y<6 | y-x< -
@ Y2 -2 @23-3 >ax
x < 4 Y+2 <X
Q yex+z3 D y2zx-3
Y2 x-2 Yy 2-x-|
@ x>-4 Y=x >|
U+ x€3 Yy <=

9 . 6 Problems

ABSOLUTE VALUE INEQUAL.
So\wve by graphing :

Continued
3x-4 26

_.5q_.




@ ly+a)>x
® Ix|2y

@

@ |yl =y
@ lax¥y) >6

wyite a §33+em of meguad =

iHes for

Roch amp\n :

y.
r

+

4; f l
i ] [t
I - 1
1 T []
] 1 i |
| : : :
T ]
i
S Ho
] N |
R
AR

[ . U N Y

|||||

s

9 n 7 Problems

SOLVING DIGIT PROBLEMS

® The som of +he d\QH‘S of Q
two digit number is I3,
Twice the tens digit is fwo
less Yhan 5 +imes the
uwits Mgt Find The numben

@ The tens digit of a two
Aigit number is & wmovre
+han +he units digit, The
number is 2 wmore than 8
Hmes the sSum of +he digiy,
Find the numbev:

3 The sumof +he digits of a
two digit numbeer is 12, The
units digit is Fwice the

..L*o_




tens digit Fnd the numher:

B The units digit of a two
Aigit number is one More
+Hhan twice the dens digit
The sum of the digits \s
7. Fnd the numbec.

® The sum of the digis of
a two dight Number 1S 12,
IF the ca‘gds are veversed
the view vivmber is & fess
than Fhe oviginal numben
Fnd the ovigivial number

@ The sum of the dyits of
a twe digit dumber is 7.
I the digits are veversed,
the newd Auwmber is 3 less
than  Times +he orgival
Nombes Fnd the o rigival
number,

@ A two digit number is
cqual o 7 Hwmes the
unmits digit, I+ 1815
added +o +he number, 1Fs
Algits are veversed. Find

e number,

® The sSum of the digits of
a two digit numbee is 9,
TF Y5 s suvbtracted Hrom
the number, The dig\ls ave
revevsed. Find Hhe nunbev,

Review

Solve by graphing :

@ Yx-vy 2% ,lx—jl <4
y=z -3

9 n 8 Problems

MORE PROBLEM SOLVING
PART L

@ wWhite traveling with the
wind , & plane %lies 200
miles in 40 minvtes, T
retuens aaa'ms‘i' +he wind
n 45 mivutes, FHnd the
o goeed of +he pane and
The rate of the wwd.

@ An awplane travels 1&00
mites Tn 2 houes p'afng
with the wind. 9n +he
return trip , 1+ takes 4
hours Jo 4rave | 2Looo miles
aganst tThe wind. Find the
vote of +he wind and the
rate of +he plane w shill aic,

® How man pouncls of Cawcly
+hat Sela for 8o ¢ per
pound should be mixed with
Camdsj Fhat seits Tor $1.50
per pound to make 20
pounds of a mixiure to
sel|l at+ $ 1.0l per pound 7

@ Joe sold 30 peaches From
hie tree Fov a total oF
$7.50. Be Sold +he swall

_.LH_.




@ )3x+y|+127

ones fovr 204 each and the
lavge ovies for 35 ¢ cach.
How vany oF Qqcl/\ Eind
did he sell ¢

Lovise walks from hee home
5 the city in B hows, She
con travel the sawme dis Favce
on her bicycle in | hour TF

she ndes & mph faster than
She walks whad" is her gpeed

on her b\cade

A man jnvests 4000, part
atr 0% and the reS'l- ot
120k annuval interest If he
carns $4H60 interest at the
end a-F oVR year, howy much
did he mvest od' eqch rote 7

Review

The +ens o\m 't of a two
digit numbe«‘ s 4 move than
-rhe_ units digit. ITF the
digits are reversed, +he Suom
,oF +he new ﬂumber and the
sriginal number s 1S4 Find
the orginal numbern

C\G\SSZ\ +he ‘%\Iowmﬂ sy stem
and waicate the number
of solohons ¢

Hx - 6
Y = -l-j“-}x"*‘.%

Sowe Yhe
Sg)s*em bl:g
grep Wi g i

@

wWrite a sustem of Ihequalits
for the S%ph beow : Sqoalmes

A

ra i L

-

PART 1L

@ Flying with +he wind , o plane

Yrovels 3200 miles ln 15

minvtes. Later ‘hat day,

agawnst the wind, +he plave

+ravels hatf +hat " distance

in 30 minvtes, Find the
speed of 1The plane and e

roc\-e of +he wind.

A boot i‘ruva\s downstHream
4g8 miles 1y 4 bhours, The
retven tip upstream fokes
© hours, Find The speed of
+he boet in shil uJon.r argl
the vate of the cuvvent

@ Mrs., (R‘JbQY'I m;xas

Ts
which sall for E1.65 per
GDOUY'@ and almonds w\’nch

.....Ll-z...




sel| for $2.10 per pound. She
makes a 20 pound Mmixture

that Sels fov % 1:833 per
pourd. How much of each

Should she mix ?

P The corner Mmarket sells 35

jeces of fruit for $18. The
gppfes sell for $.60 and
oranges sell for .45, How
Many of each ore sold 7

Baron can run Yo the beach
M 2 houvs, He
can make +he

Same e on

his skate- /P
goo.r-c\ N 2
0 min- AT
vies, TF i
he goes 2 mph +agter on his

Skate board, how fast can he
Yun 2

Jim myests $6000, part of
8% and pact af 2%, I¥ he
earns $6140 in interest after
ove year, how much is -
vested at each rate ¢

Keview

The tens digit ot a +wo digit
number 1s 3 Movre +hawn +hr
units digiy. ITF the dgits
are veversed, the sum of
he new number and ‘the
original nuomber is 99. Find
the original number,

Clcxss]{-j +he ‘B”Ouu-mg Sas+em

ond ndicate +he pumber of

splu Hons ¢
y= "Ex+3

2% +53=5

Seve. +he
System by

graphingz
®@ |2x-yl <6

Write a system of in-—
equalitres. for the graph:

I ¥ i i FAW S A7 .V . L
N s varmau
Mrari y .
7 AW, g
7 ‘
i 4 fI’ .. L L
ir.u'i A % L
1 / 7 7
1/ y »
A v i[_l P :
1 1
' [
F.K i |
y A
¥, 1
T4
| . ] ]
Pl M L [l

REVIEW
PROBLEMS

Qassfy and state +he
number of solutions !

@ Y= Zax +4 @ yz-3x+BE
2x +24= 6 Ax+y=7
@ - L‘l‘j-g @3—2 =2>(x+2)
o= X2 y= /z2x + |

yae




C’h’*aplﬂ +he 535+em:

5=-3x—b
3=5X

Use subshtvhon to solve:

Y=2x+
IR-Y =

2x = Yty
2x —2.3:8

Use elimination to solwve *

@ 3x Yy =-2

® 2x-5y=16 @ Yaux +2y = -0

®

Yx+3y= 4

Ix+294=95

@ '/3X+*‘/3‘j =5
2% =3 y=-

Yax - y= S

Groph the inequality

Y > Yy —-¥

() 2% =Y z2-b

X > -2
y < Yx+4

yw< S

VG)Y‘O-PVI "H')e S$5+em:

@ [x+yl<#

@ l3x-ylz6

Wreite o system for the
Soluhon o?@ach araph:

' ! h. Y N ]
AN, WY
W

N
N

Y

N

yres
ry

T ‘\
Ny,

"y

.

p.rPd

Ny,
N NN Y
. ‘k

‘\
%

&

P
P
" -4 P
i
t

=
’J

o
b

NN

Solve using o system:

@) The sum of the dgits of
a two digit pumber is 1
The unks o\tgr\- is | more
thany Tour Hmes the tens
hait. Tind The number,

@) The sum of the dgrts
of a two digit number (s
q. The tens dig i+ ls 2 less
+han twice f’he unihs digit,
Find the pumbere

@ The umts dgit oF a +wo
- digit number s 12 less

_L+L+—




+han twice the tens digit
T +he digits are reversed,
+he new Number is 45
less than the original,
Fnd the original number,

@ The tens agit of a two
digit numbev:_is half +he
units digit. IF The digits
are reversed, +he new |
nuomber is Q less than fwice
+he original number. Find
the oviginal number

@ Traveling downstream , o bodt

oes 6O miles in > hours,

gainst the current, the boal"

tavels +he same distance
v twice the hime. What is
the rote oF +he boat and

whot is the rate of Hhe cuvredt?

@ Fuing virth the annd, o
f'lcme Havels 600 miles in
/2. houvs. atnst the wind,
the plane makes the same
Alstance n 2 hours. what
is the speed of The plane
and the speed of the wind 7

@ 312,000 is jnvested, pact ot
6% and par'\" o¥ !Oofo, After
| year, +he ©% investment
has earned $&0 tmove n-
terest than the 10% jnvest -
ment. How Much s mvested

ot each vate 7

$ 6400 i< ;'nves‘*ed, part at”
g% and part at 1206, APler
one dJear, he has earned
$7)12 in Interest. How much
did he mvest at cach rate ?

Craphn +he system:

€D |x+1]1<3
®+y £ 3

@9 3x+y £ 6
iy1 25

Additional Practice

ABSOLUTE VALUE GRAPHING
Groph the -Follow{ng
Sc.és-}ems :

D lvl-3<2 @ ly) £ ax+4
3x-y<y X< 3

D Ix]+4 27 @ ly|z2:+6
Y2Ix-6 Y <2

@ 12x+y)>4  © ly}< x+5
Y £ 3% X <2

... GARFIELD

CAFFEINE
MAKES ME
NERVOUS




Unit 9

SKILL CHECK

Classity and state +he
nuowm ber of Solotons :

y=zx-H  D3x-2y=4
2%x-543 20 = %-xm
Use sob sttutron o solve:
O =3 %3]

Ex-2y=|

Use elimination to salve:

Hx-3y=3
3%x-594z16

® EFx+ $ty=n
37" £Y=5

Graph t+his inequm\i‘i’a:

v >2x+0b

Graph the system:
X > -4 [2x+u | <4
Y L ~x+Y4
Nr‘r\*el a systemfor:
| : iﬂtL

oy
171

mil

Solve wsing o system :

The units dgitof a two
chgit Num ber 15 half +he
+ens digit. TF +he cigits
ave vevéersed, +he original
number is 12 less thaw,
twice the new one. Find
+he ovriginal pnwmber,

@ A boat travels 20 miles
vps¥ream in B hours,
With the current, the
boat can travel 2 mileg
less jn just 2 hours, what
IS the speed of the boat
oand +he rode of the curent?

@ $10,000 is invested, part
ot 8% and partot A %,
IF the mirerest for one
year iS $860, how much
is mvested ot each rate ?

Graph +he system:

®Iyl=26
W £ X-5

GOOP MORNING, GARFIELD.
IT's A PEAUTIFOL
PAY TOPAY

_Lfb;.




Unit 9

REMEDIATION

Classify and stade the
Number of Soluotons :

D Ux-y=6 @bx-2y=3
Y =2 x4+ Y=3x+b6
Use subshtution to solve -

3 y=-ax+2
5X+la:6

Use elimination o salve -

@ Bx-Hy=-|

3x+3y=- Ex+lg=-)

Grapeh +his mequadity
©® YL “Hx-3

Groph +he System:

@ y£6 ® [x-y) >2
Y2 Ex42

Write a system for:
@ S

1

B fx-39=n

Solve usivg a System:

® The tens digit of a two

digit number s 3 fess than
HWice the units digit. TF

the digits are veversed, the
Sum ot +he news number
ond twice +he ornginal
number s 153, Find the
original number.

@ A plane Fhes 60O miles
2 hours with a fahlwind.
Flying against the wind,
the plane Thes 80 miles
less wn the Same amount oF
+ime. Find the speed of
the plane and +he speed
ok 2 WwWind.

@ 37000 a'nv'es*l*ed, part
ot 0% ‘and part ot 7%,
TF +he nterest for ane
year is $550, how much
18 mvested at cach rode ¢

Graph the sSystem:

® ly+r2| <6
2X 44 £ 8




Unﬂ9 |

C\O{.;.S H-U) an(\ S‘?"a“k_i —H’KE.
humber oF sx‘)lu*hons*

@ Bx- Y= Ozx—i%g“lz

| 9:3;«:4—-@ S YsTExan
© X~29= 8 ®3—2?3¢0<*0 |
Y=g Hx+2y =10

use. soubshtution to solve

Ex=29 @y=-3%-5
2x—4Y= 2K *+3I AT

Use e limination 1o solve

@D 3x-Yy=17 @ Hx+39= (>
2A-EUYTO BRAHY =22

Groph +he ineqoaliy’

@ Y >2x+06 |
(ava,ph?rhe System :
@ uyzH @D [2x-Yl >+
Y& x-t o

weite a $8$‘§f€m-€br Jhe
. solofion graphed below :
A

- <
AW

EXTRA PRACTICE

S Solve u«smg c«ngQ't*@m
(";l)The, SUm. a{’ﬁne digrks ot o,

"an T

Ao Aigit pumbes’ \S 9. Thre2
Ames The: anmds dgitis
3 less than twice the tens
Aigit. Find the numbet:

D The units digit of a +wo

Adigiy numbe e | less
than H Hrnes the tens
dgiy, € the digrts ave
veversed ,the view puwtbes
s 45 more +han the oqgirm\ .
Find The origwmal numbet

B A boatthavels 4z miles,
doun Shtaim In 2 houvs.

ainst the owveat, i+
makxes the velum foip in

7 houvs. F}nd the wade C‘S{\
the boat i shll waler
and the rate of the corrext

@ $9000 is invested, pait ot
5% and part ot 6%. T

the interest Carmed v ane
year is £612, how much is

tnvested atr each yade ®
Solve the system:
Ex+EY=2
2 - —}i Y =38

Greaph the system:

TRAINING AN
OWHNER IS HARD
WORK, BLUT THE
BENEI—"IT& ARE




Algebra SKills Review

"W Al v
Problems

QUARTER #3 REVIEW

Tdentify the property:
® (30>)(mn) = (mn) (an>)
@ 5xy* ( Yan) = 5xy* (Yan)

Evalvate the expression :

:-)_) :-l,C=2

©) lal—bs
b(b-¢)

Solve for n:
@D 3xp —2xq = Y*(N-Xx)

Soe the mequality:

® 2x- ZX ¢ 4 (x~6)
Solve and graph on a
number line ;

@ |2n-4| > I0

@ |n-71-122 wg N#5

Simpl'Fy €ach expression ;

® Ha* b2 )* (Lo be2)?

AREAL
MAN OF
ACTION

@ -gx7y 2*
éx's‘:jHZ_g

® -qa>x"""
Sa\xm'z

mo 1Fiply /Divide polynomials
(4x -39) (x +5y)

C 20\)(_ 352><-;-| )?_

(3a2-b>) " (a -2b)

@ ® 6

Evaluate in scienhific netotion

@ =210 x 103
I+.

J4 %o

Factor completely :
32 mns -2 m°n

Sa* - 20k ~b*>

® e o

lox? - lby> + ay* - ax®

Selve each equation;
® ZHa = —9a*-16
2n®~jan = ~5n*

Determine the valve of the Fnchon:
@ F(x) = 2x* - 23x  foc F(n+1)
_-48—




Determine +he Indicated seluton
+for each hneayr eqUa:h‘On problem:

@D wrte an Rquation in Shandavd
form for a line contaming
+he points i (-2, 3) (-5,4),
Then use e equation to
determine the miercests.

@) Use +he -E)\low'm‘os veloton o
write an equation v slope-
mwierceet form ;

X [=2|-5|-8 |- |14 |-17]
yisi7lalnins]

@ put the equation -g"‘:ﬁ"—’%x—?-
in standard Form ) mdicate
t+he slope and oth intercepts,

Then draw The graph.

@ Write an equohion m gowt =
slope form (nof slope-intercept

form) For a line neluding

+ve pont (4, -7) and a Slope

of -3,

€9 wWrite an equation v slope ~

| ntercept form e a hine
pecrpen dicular to y= 2x—-5
-quOugh (‘;7). Then ﬂra,ph Tt

@) Fd +he mid powit of AB 1€
A= C‘—I-)-G) ond &= C-lj 3)

Detexrmine +he indicatect soluifon
For €ach systems problem:

@ Classify the susrem and
wdicake Hhe number of Soluthons:

Y = 2x -5
2%~Y = 15

€8 Solve the system using

substitution
Y= 2% —|
Ix -2y =~

@9 Solve +he system using
elimmation

Im+2dn = IO
Hm=~3n =-32
@) CGiraph The sSystem:

l2ax=-9| < H

- 49—




"W B "w
Problems

QUARTER #3 REVIEW
Tdenkfy +he Pro perty :
4 -
© () (o) = o
@DIfn-= 3%y and 3xy = Hb
+hen = 4b

Evaluate +he expression ;
A= -3 :—-2,2'-"-',

@ 24 - 33 (X ‘21‘.)

Solve o x
@& 34 Cx—23)= 2 (x-y?)

Solve +he inqualH‘j :
@ M > 2 (n-3)
10 N

- Selve and Groph on a
number line

® \n+3) <« 8
@ \n-4|>2 N}A- n>0

Simplify each expressiow ¢
' R
C3x*gPa™)  (hPyTe?)?
® a7a*bic'd
—1ga be2d3

IL}n'J.x?m"i
_znxaw
Mo Hiely / Divide  polynomials :
D (a-4b)(2a+b)
D) Cx2n+35n-|>z
@ (Ha3-b3) + (a+3b)

Evaluate v scienhfic notodion
@ (.03 x jo™) (05 x07%)

Factor completely ¢
® n®-I
Hx® +2x%y —12xy*
D Cotbd® = 3 (arb) ~H

Selve each equation
12X = =10 =Hx2
@ n°-on>+9n =0

Determine +he value of The
Lunction ¢

@ £ (x)= 2x—-x* “Raf. f@n-1)




Determine the indicated solution
Rov €ach hneayr equation problem

@ Write an equation v slope -int.
form Tor a line containing
the. point (H,-2) with a slope
of 24 . Then wse the E’Quod‘rhr)
Yo determine +he intercepts,

@2 use the fo llowing relation +o
wrde an equation in éfandrxrfl
Form: »|3|-1]-5]| -a]

df2fol 21 4]

@ Puot the @quahon G@ -la=bx
by Standavd Form | ‘mdveate
+he s)oPe, and hoth J'Vl'}'ertep'i‘-i.
Then dyaw The graph.

@) write an equation i point-Slope
Form for a Ine mcluding
+he points : C—2) 7) (-'4} 3)

€9 write an equation in standard
Form for a line parallel fo

ys 3 Zx-3 +hrough (._)_ |) Then
Srwph W,

Find +he midpomt of X3 1F
= (~5,8) and Y= (-7,-2),

Determine +he mdcated solutron
for each systems problew !

&) Classify t+he system and
dicate Hie Avmber of o)lubions:
3 = _3 K+ '

Ix+54 =5

. Solve the systewm \-\&mg
subshiuhion

Ix+4 = |
X=-24Y =
Solve the system usfns
eliminaon
% = '-hj =\0
3x =24 = O

@ CGeaph +ne system !

Y22 -x +H4
YL 3x -6
GIMME FOOPR

LOTS OF IT.

AND RIGHT NOW

=1 B




"w C "
Problems

QUARTER #3 REVIEW
Tdentify +he propecty
@D TF 2n-1=x +hen x =2n-|
@(F) + (&) =0
Evalyate The ex pression !
a =“I) b=z 6 C=-2
D 34> - (b-20)%
Solve 'R)v'. b:
@ 2a(b+r2a)=3b+ Ba

Selve Hhe iequality !
® 2- F <4 (n+5) +1

SO\VQ anad araplq on A
Number [tne ¢

® |3n-6) >3

D In}>y ”""‘/d Inl< ¢

Simphify each expression:
® (-2x29723)° (L xy2z)’
@ Joa?b>cd”

~l2a bac'ids

Multiply /Divide polynomials ;

@ (x—Hy) (3x-4y)

@ CQO\X'H_ 3bx-l)z

@ (5x"- 33‘_*) -+ (x+4)
Evaloate m scentific
notation :

@ 22.5 x lo*

2,5 % lo~*

Facktor Comp )e:l-elj :

=z
® (3x-24)* = (*-54)
@B Galb + 7g*b* + 2ab?
@ xzaL&_xzbq 1_3?. b‘-}_aza'-i

Solve each equation:
Hn +n = 4,2
0\3 = loa

Determine Tthe valoe of
+he funchion !

R(x) = x=3x> for Flara)

e




Determing +he indicated wluton
for each lvear equation problem:

@ wrte an equation ;» Standavel
Boem v a hne containimg the
points (-4,8) and (-10, 17),
Then wse the equatfion to
determme +he miercepts,

@D weite an equation in slope -
ntercept form for a line Hhat
goes through the orfigin with
a Slope of =i,

@Po‘l‘ Yhe equadv'on 103220 +5x%
M standavd ©vm | jrdicate
+he slope and hoth mterceghs,
Then draw Hhe graph.

@ Wrte an o_q%ﬁbn m powt-
slepe Tovm For a hine defmed

by These pomts: (2,6) (-1,4)

@3 write gn equahon n siope-int
tocm Fov a line perpenchevlar

to Ax -5y =6 Throvgh +Hhe
point (-4, -2), Then dmw
The graph.

Fd the mudpornt of GH iF

G2 (-1,9) and t=C7,-1),

Determine +he [ndicated Solution
For each systems problem :

@ Claséva +he Sgs}cm and tndiate
4he nuwmber of Solvitons:

9= %~

2Zx =74 = 4

@ Selve the sijs-}am wsing
Sobshtuhion !
2< -4 =5
X -ty =l

Solve +he system using
eliminahon !
3x-Y =-2%
4y -39 3 4

@D Graph the system:
6)("!*35 < IE
2x~-y < 2

1 KNOW YOU'RE OUT

THERE. [ CAN HEAR
YOU BREATHING




‘Problem Solving Review

" Al Y
| Problems

'QUARTER #3 REVIEW

INTEGER PROBLEMS

@ Find +he largey of two con-
secutive odd inteaers such +hat
+he lavger one decreased
buy three "less Hhan twice Hwe

smaller s neqative six,

@ Find a negative @ven inteqer
such that +hree more 4+nan
+wice the integer is between

-1l and +5,

@ Paul is Y5 as old as Tohn, 4
years ago, Paul was half as
old as John will be next year.

How much older is John <

@ whep one inteder 1S added 4o
+he square of the next con-
Secu hive ‘M‘f‘eﬂer) +he sum IS
55, Find +he Integers.

B The sum of Fhe digits of a
‘o dig't number s 10, I the
digits are reversed, +he nhew

number 15 2 Jess +han 3 +Hmes
+ne origimal, What s +he original

number ¢
MONEY PRORLEMS

%]ll earns $180 per week pIUS'
7% commission on Salkes, How
much must he sell to tatke
home_ o 1ol oF $220 v one

week 2

D Ellen has $4.50 jn dimes
and gquacters, TR she has
27 coing in all, how many ave

d(mes ?

® Dommick pard
$81.90 fFor
clothes . This
ncludes a 5%
Sales o, What
was +he cos
before. +he fox?

@ TJean- Luc invested $4000 ot
6% ond 2% awnual wtecest,
How mueth was Invested at

cach yote ¥ he €arned $270
M intecest for +e year ?

__5L.|._




MiIXx TURE PRo&LEMS

® The Addams Family purchased
(| Hekels o the variely show,
Adolk hekets sold for $3.50,
child Hekeds sold for $1425 How
many of @ach did they purchase
for $20.50 2

@ How muth aevd should be added
1o 800 ml of o 25 % acid

solvtion 4o make a Ho% so\uh'un?

RATE , Time, 5 DISTANCE

@ Alice shrarts walking o scheol
ot 7:30 AM ot a cate of 3meh.
Ber brother Mavshall begins
ridhng hi¢ bike 4o schoal at
7:40 AM at a rate of & mph.
AY what Hime will he cateh
vp to her ? ‘

@ A bge travels 32 mles op
ihe river 1o B hours. The
return trip takes oMEj 2-
howrs, What is The mde of

+he Currerrt 7

AREA AND PERIMETER

@D A rectangle has o lepgth B
ches less than +hree +Himes
"+ widath, The pen'me:i‘er 1S

18 (nches, What s the area
of The rectungle ¢

@) The ovhrside width of a
eictuee frame 1s & inches

less +han Fhe length. TF
+he Frawme is | inch all

+he way around and hag
on area. of 64 in; what
ove the dimensions of a
phote +hat Ats exactly

mside 2

Me, willams has a 10 by
15 Cost sarclen. He wants

}p couble its area by
adding a sHre of uniem
width aleng each of Fhe
Poue sides, How wide
most the shrip be




' !B "
Problems

QUARTER #3 REVIEW
INTEGER PROBLEMS

D Find +he mddle of +hree con -
secuotive 'm'reﬂexs such that
the smallest decreased by
Three +imes the lavgest
& zevo

@ Find a POSH‘I\'/Q odd 'IVT"“Egef'
Such that +wo less than four
Times the mteger is behueen
-6 ond +14,

@ Lou is ¥4 as old
as Vince. Next+

Year, Low HAMBURSERs
Will be Y3 ag ol \HAMBURcERs:
as Vimce whi| be ooo- N

Four Years From now.

How cld will Yince

be nexT year e

@ Find Hwo fvﬁegexs whose
Adifference 1& fwo and whose
product is $xty- three,

& The teuns c\i-g‘d‘ of a Two
diait number is three less

+han +NMe aniks c\ifj i+ I the
dig i+s arc r‘ever.secl) the new
num ber is Z movre Fhan hwice
+he original. whet is The
original number ¢

MoONEY PROBLEMS

@) ™e cub owes $175 Ho
the park Aistrict o rental
ol the concert hatl, T
+he clob earns 1% commission
on cales and all Rckets seil
e -1;5) howy Mmany Hekelx
must +he club sell o €arn
$100 pro-FH' after repa:jfmg
+he park distyict 2

@Ra\ph has ajarﬂv\\ of
mckels, dimes , and quarfer,
He has twice as many
guarters dg nickels and
o/x fewer dimes tHhan
quarters. He has a htal
of $5.40. thw many

quarters €

Gerald purchased & vadio
Lo $72 when 1+ was an

sule ot 0% o, et
was +he origimal price ¢




@ Nelsen Jpvested $ 000, pact af
[2.0/0 gne ()ar+ ot 9°4, His R%

Investment earned more (nterest.

1n 'Pad‘j he earned $0 more
+han fwice as much Interest on

t+he 12°% mvestment compared
o +he 9o mvestment. Hpu
much was vested at 9% 2

MIXTURE  PROBLEMS

Peanvts Sell for $1.75 per pourd,
and Cashews for $2.05 per pound.
How mMany pomds of each should
be put wnto a 15 pound mixfuve
Fhot sells for $1.85 per powncl ¢

) There are Two metnl alloys,
one with 18 Copeec and
one with 50% (opper How
much of each should be used
o groduce 1000 g of an alloy

HFaat 1s 32°% coppec ?

RATE, TIWME, £ DISTANCE

@ A @lanta leaves oF 2:308M ad
£hes due east for two hours,
Prother plane, travelling
50mph fuster, Jeaves 3o min.
later £y g dve westh A+
H:30PM, the planes are 1300
miles apart. Fmel the rate
of each plane .

(3 Max rode his b{c%c,le 36 miles
agawmst +he wind (n 3 hows,

The return trp tok | hour
“4g minotes with +he wind,
Assoming Max pedelled ot a
consrant uite , what was the
Speed of the wind 2

AREA AND PERIMETER

D The base of an sosceles Fravgle
ic one cm less than half the

\ena'HA of the Equa\ gides, The
perimeter is 34cm. How long

s the base °

@ A rectangle has a length
3 ., longer than ds wickh,

TR +he fenﬂ'Hd s CICCVCG(S&Z{
b3 5_1(0. and the width is

increased by Hin., the
area (s clecreased by Ibin,
What are +he dimensions
of the original rectang le 2
(Contnued)

...57_.




@ mr Wilis has o 6 by & foot
patio. By adding a uniform
SHrip of concreTe on all four
sides, he will increase he
area of the patio by 7242
How wide is the shrip ¢

"W C A
Problems

QUARTER #3 REVIEW

TINTEGER PROBLEMS

O Find +he smallest of Hhree con-
secutive even integevs if fwice
+he middle one cecreased by
the largest is seven.

@ Find an odd in"'ege,r +hat s
also o pPrime nuwbeyr such
+hat 3 less Hhan twice the

integer is hetween Sand 17

@ Aavon is Twelve years older

Than 'C\'nc\g. 7 Jeavs aqo, Acron

was 3 Hmes as old as Cndy.
I how ManyY Years wil) Oy

be as old as Anron was seven
Years anp ¢

@ Tond Hwo consecuhve even
ntegees such +hot +he sSum

of +he ArsT and the square
of the second s HO.

® The +ens digit of a two gt
number 18 3 more. than The units

diatts TF veversed, +he Sum
of The Or'\fs\'“oe\ num bee and
e new nowmbev~ will be 121,
Fows much larger Is +he
Ori&ina-\ nombex <

MoNEY PROBEMNS

@) Notalie earns $210 pec week
plvs ’7-}_ %y CommisSion on Sales,
What ave here sales iF she
Jakes home $I575 over a
Ahree week peviod ©

@D Jack has#2.55 1n coins, He
has Seven move nickels than
Adivnes and 27 Coms m all
Cthe rest ace quacters ), Bow
many nickels does he hove 2

DINNER 1S
(® Susan’s +otul READV,

GARFIELD

Cost (incleling
5% Sales hx)
was $1g.90. tow
Much 'hjkx C\ld
she pay 7

-5g~




@ pHlex mvested 314000, part
oF g% and part at 10%, The
0% Investment earned move, TF
earned 3100 move than +wice
as much ae s other mvestment,
How much was mvested ateach
rate °

MIXTURE pROBLEMS

Chocolate caramels sell for
$2.40 per pound, Chocolate
chevrries sell for $1.90, How
much of each should be m;xed
n o 10 ~pound box that selis

Por $23 2

@ How much 80 % salt Solution
should be added +» 20 g of
o 30%s Soluhon 1o ebfain a

6o % soloton ¢

RATE , TE, § DISTANCE

@ Maytha and Noreen are 350
miles &part, They hegin drving
toward €ach other — Martha oF
[:00 and Noreen at 215 oM,
TI£ Mactha drives |O mph
foster, and they meet at 500

P how fFast s Mactha I ving

@ The jet stream s ragd alr mave-

ment m the sky. TFf a elane
£hes 800 miles vy 2 hows a_@g{_ﬁsf‘
ihe jet shream and makes +he
refuyn drip with  +he jet
Shream vy | how 15 pimutes,

what s the 3peed of +he
plane. in SHIl awwr <

AREA AND PERMETER

@ﬂq@, l-ens“i?h of o rectargle

e 5 m less Than 3 fimes s
widtYh . The per?Mo:l-er is 3% m.

Eind the avec.

@) & photo s 3 em longer than i+
X wide, T+ Fike exacty na

Frame +hat 18 | om all +he
way arow and has an area

of 50 em? Find The dimensians
of the Pha'}o.’

| A rectangle +halr s 4 by 9

mches has +he length and
wiath mereased

by +he same
amoeunt IF The

area increases by

rectang e ¥




Quarterly Exam #3 - Skills

REMEDIATION & EXTRA PRACTICE

Tdenttfy e property:
(DTF sC=q+b Hen arb=x*
GAYH+2 = X+ (Yy+32)
Bvaluaie the expression:
Xx=-1 y==2 Zz="3
@ XY - 2%y R

2539 + xy?

Sole the equality
E I :2_____Cg+7) > 21 41

2N Y £
= b < 3(n)+n

Selve and araph on
o humbey “line:

@ |2x-1|-3 £ 6

| x-5|+4 >7

Simphity €ach expression
@ (LY (g #c?)?

C4 P (Balrc)?

© ~i5x3yra?
Ox>9™ 8
-4 * 2> _
~ox 12 >

@ (2a-3b)(a-ub
(20.~b) (Ba,-2b)

® (2x>=4>) + (x+9)
(1633243 + (2x-y4)
Bwluaie n sgentific
notokion:

@ 2% % loqp
% 107

225 % lo°
1B % 0%

Foctor completely :

@ 1% ~2ab*
12.a% ~ 27a*b*

(D 6x*-19%y + 10y
H%*- |Oxy - by




Solve the eguation :

@ 2n>-bn = -n*
B +3n = -2n3

Linear equotions:

B wate an equation in
sm_‘;dard %m v a e
containing The points
(->,5) af“?c\ (2, 1), (Ase
The equatmn 1o determine

he. intercepts.

Wrile an equation I
standard form o a line
cortaning The eoints
(2,-6) and 6,-8). Usq
+he equation determine

Tthe intercepts.

® write an eguation m
S_IOPQ - interaept Form fora
ine perpendicilar o
2% =6 +hroogh ¢ 2),
Gaph .

Werke an eguaction in

Sloge.-in TBm for a
hne perpendicular 10
5('1‘2-3 f:)-'_q ﬂW)@h ("'2)""4)-

Groph it

olve +he 55$+em :

(@ 2x+By=|

' AKX —-_23:.“8'
3x ~Hy =0
Bx -3y =-l|

@vaph He system:
@ Y > %xi—é
Ax+2y<-2
U>2 x+5
2x+3y > b

Determine Hne “funchon
Valye !

Fx)= -3-ax—x"

¢ (n=3)

F 0 = = xF 4%
fov (2n+1)




V]ul‘hblj :
@ (a™"-36>)"
(32 p>)*

TSRS ST
S —

Factor complete] ly

Aatt-Aatyt+bry*-bix*

ot 16 B I oty

SAD FOR %CU,
MALBE -
G
I

XN I 75 S X
. £ ' _ T DANGD B26

Quarterly Exam #3 - Problem Solving

REMEDIATION & EXTRA PRACTICE

@ Find the smallest ot

dhree (wnsecohve
intesevs i the micdle
one decreased by nine
s one less than twice
the smallest

Find The middle of theee
Consecuhve odd ntegerc
i three more than The
laxges? decreased by
five less than twice
the smallestis —Fi{-—!—é&
Mmore than three tim

the middle one,

@) Ralph 1s Y6 as old as Alice .

Three years a,%’o , Alice was 3.
as old as Ralp will be twelve
yeans From now . Bow od was
Alice last Yyear 2

is %3 as old as Vepmen.

Tn oo ueans, Betty will be
/5 as old as)\é»rmﬁ was

two years ago. How_old will
Getty be next year 7




when an even integer is
added o the squave of the
next consecohve even integer,
the som is 1B ind the

inteoexs, (one sef)

When three hmes an nteger
s added 1o the square

e next Gnsecutive

one. TN 1% .
(two sefs)

D The sum of the digits of
a two G\ numbed 1S
twelhve . ITF +he dgits
are vevegsed, The new
nombec1s fwelve less
Fhan Jwice the orginal.
Determine The number.

The Yens digif ot two
Agit pumbel’ s one less
than The untks digit

£ digr’s ave versed,
twice new humbel s
Seventy -fouc more Than
the original. Determine
the npumber:

@ghom% has one. less

e Than quayter gad

hatf as ma‘r:\{ nickels as
gquarters . TF he has $3.65
n all, how many dimes

dees he have ?

Ren has three times as
qua‘,v:gé Qsﬁ\\cke\s
]

Mmany

and Five less dimes than
quatecs . TR he has $3.90
n all, how many Tolad coms
does he have ?

@ Avrdrew invests $8160, part
ot (0% ovd portaf 8%. fie
eacns Three himes Gs much
Hrom the 0% nvesimertt,
Bow much dwd he wmvestat %% <

Steghanie invests 311,000
part a¥ 9% and cart ar 6%,
+g earns 210 more om
e 6% jnvestment. How
much did she vest at-a% <

@ tow many kg of a 20%
Copper & must be added
o 50 Kg 6% a 60% alloy
4o yedue€ the oncerhation
oF Copper Yo 20% ¢

How many ounces 6t pure.
gp\d shou d be added to
55 ounceS of a Ho% allgy
o e the Concentrahion
o gold Yo Go% ¢

Jaxed and Sydney ave
600 miles qpart: when
they decde o drive
towand €ach other. davod




\eaes af 1200 PN dewing
26 mph faster Than Sydney
who stats diving one
how later. Houw Fast is
Sudney dewing iF they are
2.90miles a;‘?rfq‘\- ﬁnb pm ¢

Steve. and Eydie leave the
concert hall deiving

e divechions . Skeve
leaves at 630 M and
quie leaves 20 minutes
loter. Steve drves |0 moh,
faster, tow fast is Steve
daving if Theg are 325 miles apart
at 10:30PM ¢ '

Cartain Stobbingg boot

) OW'S, in GYueeqsS

e f
S on ce

in Y ﬂ‘;ﬁe ”gme s S léo‘i'h '

boats travel at The Same.

e m syl water, what

1z the rode of The auxrent:

IF Yov nde gour beyde
Bomiles in 5 hours hith
The wind and 10 miles moR
m fwice the hme :thaiﬂsT
the wind, what s The
speed of Yhe wind 7

A 2 by B inch photo s
ar Nt & rectangvlar
ﬂ“wme_ﬂuia‘rh an area:%‘F

q squace nches. What~ s the.
amfoom wndth oF the ffame 2

A sidewak with an area oF

02 is bul around &
b bgﬁ 15 fot recfuﬂﬂu\&r

gaden. wWhat S the uniform
width of The 3&\“0\% 2

HELP! I'M.A JELLY-
FILLEP PONUT !

h6 GoVA WD

SOME DAWS,

LIFE KIBSES

WOU RIGHT _,
ON THE




